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3) 2 persons equally divide 8 mangoes. How 

many mangoes will each person get? 

Soln: 

             2 persons get  8 mangoes 

  So  1 person gets (8÷2) mangoes 

                                  =4 mangoes. 

Ans: 4 mangoes. 



 

 4) 4 persons  equally divide 24 lozenges. How 

many lozenges will each  person get? 

Soln: 

          4 persons get 24 lozenges 

   So   1 person gets (24÷4) lozenges 

                                   =6 lozenges 

Ans: 6 lozenges. 

 

5. 3 person equally divide  27 taka. How much 

taka will each person get? 

Soln: 

                   3 persons get  27 taka 

Therefore  1 person gets  (27÷3) taka 

                                              =9 taka 



 

Ans: 9 taka. 

NB: “Do the exercise according to your 

capacity” 

                                  The end 

 


